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2,000,000 14 2,000
-HSEMN S&I| =2l
300,000 *5CH 1,500
202 o4t 2,000 1,800 200
01 =WHO4b| 2,000 1,800 200
OHO=X HEFE 2t2|04d]
200, 000& *5F *43| *50% 2,000
301 LEHBNEF 15,500 15,500 0
02 MBI 2EHES(FHUAHS, NSTHA) 15,000 0 15,000
OO MSENH L ARH =2/Hl K&
150,000 *100CH 15,000
14 JIEt2 43 500 500 0
OHOA=2X RSA Al4
50,0002 10 500




SA: QIR

Iz Zojel =X B&

Eelr Zoiel 235 (SH &)
(=] XNz . (S (=] (=) OH E‘“,—jE =2}
SA - ZE - SA(FAH) - NISAY - BHES Ol &hed Ol Abou Hns

307 QI2H0I A 100,700 117,100 16,400
1 ARSI AL E X 100,700 117,100 16,400
ORMI453| SIXIZO0IS & D&l &4 L Al

ool SXSA 2 XA
1,500,000 14! 1,500
OAIZ OIS st WA 2% 23 X
tal 1,000,000 14! 1,000
O£C=2 2= N4 1,200,000 14| 1,200
OFUs0tIoE JIEAL &4 o QDM
ZH Ol 2t XA 1,000,000 %14 1,000
O£JI22 Mt HEAE Z20
1,000,000 14! 1,000
Ol #elo| Mok 'SHOF ACH @ JF
sess 2,500,000 14! 2,500
OFetLTHNO JI1SBIIUE HIMXIE
2,000,000 14! 2,000
OXHel 25HHE 1,000,000 %14 1,000
ORM313| MIZOHQISHOISHHER L HI233
Zojeles stEASA X
1,800,000 14 1,800
OXZXIHEOHAIHMSFCHZ| IR
2,500,000 14! 2,500
OXLXMB N XSS &K
2,000,000 14! 2,000
OM343E SZAIXIZ DG4 X
2,000,000 14! 2,000
OX0iel 22 HFEH WS(P Z2lg)
2,500,000 14! 2,500
OJIZ GtLtl= MI&(Zoie!l SoE M=
T20¥) 2Y 1,500,000 *14! 1,500
OM143] MEHHIHEEEN L HE5 &
hE X2 3,000,000 *14] 3,000
OXOHIHEs HRIX| AS
1,500,000 14! 1,500
OFfel 22 AEH BI(PCEY,42)
2,000,000 14! 2,000
OFMNIEATHE NS 2,000,000 %14 2,000
OSSHH0 25ty Y AHANS
1,000,000 14! 1,000
ONMZ N XA 25HHE
1,000,000 14! 1,000
ONMFONO! ASAFIE A HEFD| <
s 1,900,000 %14l 1,900
ONAZHQIZS ASt DISARIXZ DA 2
d 1,000,000 14! 1,000
OO0 M FOHO! Q1ADDM S RIBH 24X Q1A
Mg g2 4,000,000 * 14! 4,000
OHLZ0HQ WESAUE X
1,000,000 14! 1,000




A =QIE0HRI Dt
Mz Fofel =X SA
29 S0el =5 (EH9): ®2)
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
O 29 3,500,000 14 3,500
ORMI403] 8=ZO0HIR203 &I
1,300,000 *14] 1,300
OO MHE RIIZz I 29
2,000,000 14 2,000
OZOHQ! Stote 2&XI
36,000,000 14! 36,000
oorsMsgrMg B2 orS2lo(Zoe!l S
BHOIEES Fist A0l XS TRI) 2
10,000,000& * 14! 10,000
OHMI2al Hoiel A2 SRS
4,000,000& * 14! 4,000
O&g&oele & J1g8a 4 T
2,000,000 14 2,000
401 AIEHIZL 2018 15,000 20,000 25,000
01 Al&Hl 15,000 20,000 A5,000
OZ7M& FXE==4|
15,000,000& * 14! 15,000
405 XHobE S| 4,300 8,600 24,300
01 AL ESH =S| 4,300 8,600 24,300
OFe MSENN &I 72
4,300,000 x2CH*50% 4,300
ZOHQI EHHIKI 138,781 176,529 A37,748
& 34,632
Al 104,149
307 QI2Ho1 M 138,781 176,529 A37,748
& 34,632
Al 104,149
1 ARRI=EXAIEE X 138,781 176,529 A37,748
Q0N il 2 43t XIZ(6H2)
28,200,000 14! 28,200
OO AIRA 2= XA
24,000,000 * 14! 24,000
OW&E0C SEH MHIA At
86,581,000 & 14! 86,581
& 34,632
Al 51,949
ZoHeld Xl X2 (=XE, S5H) 2,618,848 2,794,269 A175,421
= 1,248,313
& 467,024
Al 903,511
301 LEBEF 2,618,848 2,794,269 A175,421
= 1,248,313
& 467,024
Al 903,511
01 A BEAHZ2(RREETHA) 2,618,848 2,794,269 A175,421




A R==t P10 ReTi
X

. ZOje =X S8
29 S0el =5 (EH9): ®2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OB LTINS (ZXE)
1,900,227,000& » 14 1,900,227
= 950,113
[ 285,035
Al 665,079
OF LTI (S3HE)
372,800,000 x 14 372,800
= 298,200
< 22,380
Al 52,220
ONYEHIZASEHIAIB DL AL
345,821,000 x 14 345,821
= 159,609
Al 186,212
ZOHQI LRt X2 (LEHS) 1,759,484 1,589,977 169,507
= 879,742
S 263,923
Al 615,819
101 21A4H| 1,734,484 0 1,734,484
= 867,242
= 260,173
Al 607,069
MU IIRINZZE2NSES 1,734,484 0 1,734,484
OZOHRIHH 0| (HLH)
1,571,819,000& x 14 1,571,819
= 785,910
= 235,773
Al 550,136
OHOHIHHE CROIXIR (AIZHAI)
162,665,000 * 14! 162,665
= 81,332
= 24,400
Al 56,933
201 ger=3| 25,000 0 25,000
= 12,500
= 3,750
Al 8,750
01 AFR2t2ltl 25,000 0 25,000
O LAt =gHl
25,000,000 *14] 25,000
= 12,500
= 3,750
Al 8,750
=== (01x) X2 1,530,493 1,002,061 528,432
= 1,071,345




SN COIFORQI Dt
= Zojel =X s
o2 ool 235 (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
< 137,744
Al 321,404
301 EtE NS 1,530,493 1,002,061 528,432
= 1,071,345
== 137,744
Al 321,404
01 AR 2EHSHS(RNEXRTH) 1,530,493 1,002,061 528,432
OBON+YOIZ) X2
1,530,493,000& x14] 1,530,493
= 1,071,345
== 137,744
Al 321,404
2R S) X= 853,856 728,953 124,903
= 597,699
== 76,847
Al 179,310
301 22N = 853,856 728,953 124,903
= 597,699
= 76,847
Al 179,310
01 Al EE A S (FRNEXA) 853,856 728,953 124,903
OB+ (RIYT S) XS
853,856,000 *14] 853,856
= 597,699
= 76,847
Al 179,310
gofelis 20 A= 8,578,990 8,475,786 103,204
= 6,005,293
= 772,109
Al 1,801,588
301 2N = 8,578,990 8,475,786 103,204
= 6,005,293
= 772,109
Al 1,801,588
01 Al EE A ZS(2DEXMR) 8,578,990 8,475,786 103,204
OZijeds s A=
8,578,990,000& x 14 8,578,990
= 6,005,293
= 772,109
Al 1,801,588
MASHOHR! &EHl & ZAH X 7,944 5,200 2,744
= 3,972
== 1,192
Al 2,780




SN COIFORQI Dt
= Zojel =X s
o2 ool 235 (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
301 LtENZ 7,944 5,200 2,744
= 3,972
== 1,192
Al 2,780
01 AR 2EHSHS(RNEXRTHE) 7,944 5,200 2,744
ORAS ZOJQ ZTH| L 2AH| X
7,944,000+ 14 7,944
= 3,972
== 1,192
Al 2,780
ZOHel EXD(1J] WAL 23,457 23,019 438
= 18,766
Al 4,691
301 LtEN= 23,457 23,019 438
= 18,766
Al 4,691
01 Al EE AT S (2 RNEERA) 23,457 23,019 438
OZOHe! EXRI1J] WRAMY
23,457 ,000& * 14| 23,457
= 18,766
Al 4,691
LEMEMHIA HISH K& 932,201 689,494 242,707
= 652,541
s 83,898
Al 195,762
301 22N = 932,201 689,494 242,707
= 652,541
= 83,898
Al 195,762
01 Al EE A S (FRNEXA) 932,201 689,494 242,707
LLTHEAYIA B2 X2
932,201,000 *14] 932,201
= 652,541
= 83,898
Al 195,762
SEMHEAMEIA SHIZHH 245,700 324,000 AT78,300
== 113,400
Al 132,300
307 212t01& 245,700 324,000 /78,300
< 113,400
Al 132,300
10 Al SXAEEHE2EHI 22X 245,700 324,000 A\T78,300
OLETHEAMHIA SHI=HH
245,700,000 x 14 245,700




SN COIFORQI Dt
= Zojel =X s
o2 ool 235 (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
< 113,400
Al 132,300
oSS0 A2 20,928,867 15,051,927 5,876,940
= 14,650,207
< 1,883,598
Al 4,395,062
301 EtE NS 20,928,867 15,051,927 5,876,940
= 14,650,207
== 1,883,598
Al 4,395,062
01 Al 2E A S(SRNEXMH) 20,928,867 15,051,927 5,876,940
OB BSTR 201X 2
20,928,867,000& x14] 20,928,867
= 14,650,207
== 1,883,598
Al 4,395,062
ZOHAUESKIE & FIHAY 1,461,426 1,760,303 N298,877
== 487,142
Al 974,284
307 212told 1,461,426 1,760,303 A298,877
= 487,142
Al 974,284
10 MEISXAIEHE2EHIEX 1,461,426 1,760,303 N298,877
OZMAESKE = FIAE
1,461,426,0003 *14] 1,461,426
s 487,142
Al 974,284
SV R [N 475,513 485,750 10,237
= 380,410
S 28,531
Al 66,572
308 AHXIHMSO0IA 475,513 485,750 A10,237
= 380,410
= 28,531
Al 66,572
183 S| 2SI &HAEAIE 475,513 485,750 ~ 10,237
O&0je! 2= 475,513,0003 *14] 475,513
= 380,410
= 28,531
Al 66,572
O SAHIE X 10,000 30,000 220,000
= 7,000
= 900




SA: LoIE0H et
2 Zoiel =X S
ool molel 25 (el mg)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 2,100
301 LPBNF 10,000 30,000 220,000
= 7,000
& 900
Al 2,100
01 AISIBE XS (2 RETME) 10,000 30,000 A20,000
OO 4 Eel E4HIE X2 (10H)
1,000,000& =10 10,000
= 7,000
& 900
Al 2,100
LEZOHC RRAEXIR 7,530 7,034 49
= 5,272
& 677
Al 1,581
307 212+01 ™ 7,530 7,034 4%
= 5,272
= 677
Al 1,581
10 AISISXAIEHE2ZHIER 7,530 7,034 496
OgeFel 2o X
7,530,000 & 14! 7,530
= 5,272
T 677
Al 1,581
SEZOHC F2HESMEIA KR 1,576,364 1,165,989 410,375
= 1,103,455
= 141,873
Al 331,036
307 QIZ2t01 A 1,576,364 1,165,989 410,375
= 1,103,455
T 141,873
Al 331,036
10 Al = XA EHE2FHIE X 1,576,364 1,165,989 410,375
SOOI FABEMYIA X2
1,576,364, 000& * 14| 1,576,364
= 1,103,455
T 141,873
Al 331,036
LR 2uts SsSMHIA KR 290,990 225,087 65,953
= 203,693
T 26,189
Al 61,108
307 212+01™ 290,990 225,087 65,953




SN COIFORQI Dt
. ZOje =X S8
ool molel 25 (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 203,693
=S 26,189
Al 61,108
EENNEEEEETEES 290,99 225,037 65,953
SSTOIR WS SEALIA K
290,990,000& *14] 290,990
= 203,693
S 26,189
Al 61,108
$SEX ORIE0 304,353 118,570 185,783
= 213,047
= 27,392
Al 63,914
301 EtE NS 304,353 118,570 185,783
= 213,047
= 27,392
Al 63,914
01 Al EE A S (2 DEXR) 304,353 118,570 185,783
OgsEx s 304,353,000 x 14 304,353
= 213,047
= 27,392
Al 63,914
LT ASIEN Z2IOE KB (AE2Y) 8,000 12,000 24,000
S 2,400
Al 5,600
307 @120l & 8,000 12,000 24,000
== 2,400
Al 5,600
10 Al2ISTIAEEE2GHIEX 8,000 12,000 24,000
O IIel ABIRG T2 N (K
29) 8,000,000 14 8,000
= 2,400
Al 5,600
el S A= Y 22 )W 29 60,000 60,000 0
= 18,000
Al 42,000
307 @20l & 60,000 60,000 0
s 18,000
Al 42,000
11 ARRIS XA E X 60,000 60,000 0
OHje! =& X7 8 Z208 29
60,000,000& * 14| 60,000
< 18,000
Al 42,000




SN COIFORQI Dt
. ZOje =X S8
ool molel 25 (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ZoHe!l =0 ua 2 7,800 10,000 A2,200
= 2,340
Al 5,460
307 el2to| & 7,800 10,000 2,200
= 2,340
Al 5,460
1 AMISXAIEEXS 7,800 10,000 2,200
BRI 20D 2
7,800,000 * 14 7,800
== 2,340
Al 5,460
ORI N=E26H0I A KIRAHY 14,700 14,700 0
= 3,675
Al 11,025
301 EtE N = 14,700 14,700 0
= 3,675
Al 11,025
01 Al EE A S (2 RDEXMA) 14,700 14,700 0
O DET=Z6H0IIHA X2 A
14,700,000 * 14! 14,700
== 3,675
Al 11,025
AFEOC 2=H| XA 19,625 14,625 5,000
= 3,925
Al 16,700
301 EtE NS 19,625 14,625 5,000
= 3,925
Al 16,700
01 Al EE AT S (2 RDEEMRA) 19,625 14,625 5,000
OXIEEOHC! oj=2H] XA
19,625,000 * 14 19,625
== 3,925
Al 15,700
SSUHE0l HEZHH HE(MF) 10,000 10,000
307 glztol & 10,000 10,000
02 LB HAHE L 10,000 10,000
OSS0El0l HE2ASHH HSAL
10,000,000& » 14 10,000
oz et AZANI|2 KA 40,950 40,950
402 2IZtA=01d 40,950 40,950
02 QI XHZ AL E R (01X THE) 40,950 40,950
Ozt ABHLI[2 XA
40,950,000& *14] 40,950
el Al 2E 20,974,836 19,617,910 1,356,926




SN COIFORQI Dt
. ZOje =X S8
el Z0Hel Al 2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 8,160,389
=S 3,061,231
Al 9,763,216
ZOHIAEAIE X 11,774,449 11,415,154 359,295
= 8,089,206
= 1,136,242
Al 2,549,001
307 gl2to| & 11,774,449 11,415,154 369,295
= 8,089,206
= 1,136,242
Al 2,549,001
10 Al SXAAIEEHE2EHI2x 11,774,449 11,415,154 359,295
O OHR! HEAIL 2HHI(5IH2A)
11,556,009,000& » 14 11,556,009
= 8,089,206
= 1,040,042
Al 2,426,761
OTOHQ! HEAIL LERAHI(5IHA)
6,560,000 *14] 6,560
=S 1,640
Al 4,920
Ol A2 S SANEESE
191,880,000 * 14| 191,880
= 88,560
Al 103,320
OX el MEAIL EAT ZIHES
20,000,000 *1&H 20,000
=S 6,000
Al 14,000
HOHRIANFAIE SIIEED| dEXR 7,271 6,000 1,271
= 4,363
=S 1,454
Al 1,454
307 @I2t01 & 7,271 6,000 1,271
= 4,363
= 1,454
Al 1,454
10 Al SXAAEEHE 22X 7,271 6,000 1,271
OZ0HR! MEAIM ZIIEFHD| XIS (204
) 7,271,00021%14] 7,271
= 4,363
= 1,454
Al 1,454
N XIS AL THE A E X & 3,504,724 5,393,440 1,888,716




SA: SOIEOfOI It
M Mojol =X ZX
Rl ZoHel A2 2E (CH9: &S1)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= 986,643
Al 2,518,081
307 21Z2t0| ™ 3,504,724 5,323,440 N 1,818,716
& 986,643
Al 2,518,081
10 AISISAIAIEHAESIHIEX 3,454,724 5,273,440 N 1,818,716
OBOJI=T 2 SAHI TR (2H2)
199,680,000 * 14! 199,680
= 92,160
Al 107,520
OBONQ! SIILBAIE SHHI(144)
104,056,000 & =14 104,056
= 27,145
Al 76,911
OXISAISIHE, ZATHEAE S SAIA E
EEa=y 117,942,000+ 14! 117,942
= 35,383
Al 82,559
OHOMRUAIE S SAR BI|2E2H
34,140,000 x 14 34,140
Ol ZSMEDIE 2HHI(6J0A
228,406,000 * 1A 228,406
& 59,584
Al 168,822
OZHOHO! F=2tEBSAlE 2HHI(3HA)
538,804,000& * 1A 538,804
= 140,558
Al 398,246
OAZEOCIMEO|SXIRHEH 2HHI (1A
) 201,654,000 * 1A 201,654
& 67,218
Al 134,436
OFHELHE S2HHI(10HA)
195,261,000 * 14! 195,261
= 65,087
Al 130,174
OEOfeI=X2 2H8I(200A)
1,730,781,000& * 1A 1,730,781
& 451,508
Al 1,279,273
Qe Aol dAssSHEH 29
104,000,000 * 14! 104,000
= 438,000
Al 56,000
11 AISIEXAIEEX 50,000 50,000 0




2A:

. ZOje =X S8
el Z0Hel Al 2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oggmiel 2ZxID| ANAE NARI(
2gHl) 50,000,000& » 14 50,000
SSEU NS d2dEH XA 348,736 426,533 NTT, 797
= 64,332
= 83,851
Al 200,553
307 elztol & 348,736 426,533 NTT,797
= 64,332
[ 83,851
Al 200,553
10 AlRISTIAIEEE 22X 348,736 426,533 NTT, 797
ORI Y2 X AMEZHY
160,830,000 14 160,830
= 64,332
< 28,949
Al 67,549
ORI MBNAME 2L S
FIOtALE 58,000,000& »14] 58,000
= 11,600
Al 46,400
OSZZMHANEHEHEH2S
129,906,000 * 14! 129,906
[ 43,302
Al 86,604
ZOHAXSTHEAE 2SN 713,532 1,192,006 A478,474
= 217,687
Al 495,845
307 el2to| & 713,532 1,192,006 N4T78,474
= 217,687
Al 495,845
10 MEISXAEHE2EHIE2X 713,532 1,192,006 A478,474
OFONY MATHEAIL SHHI(3MA)
713,532,000 *14] 713,532
< 217,687
Al 495,845
ZojelE oS =X2EEH 24 117,745 182,885 65,140
= 23,549
Al 94,196
307 el2tol & 17,745 182,885 65,140
= 23,549
Al 94,19%6
1 AMISXAIEEXS 117,745 182,885 65,140
OZMHABEASAI =X HEH 2|
117,745,000 * 14| 117,745




SA I OoNel 1t
. ZOje =X S8
el Z0Hel Al 2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 23,549
Al 94,196
ZoHe JIEXZME K& 115,455 187,006 AT1,551
= 38,485
Al 76,970
307 gl2to| & 115,455 187,006 AT1,551
=S 38,485
Al 76,970
10 Al SXA2EE 22X 115,455 187,006 AT1,551
OZOIIIEXAME 22
115,455,000 * 14! 115,455
== 38,485
Al 76,970
Zoie!l MEgsE 29 115,000 111,200 3,800
= 23,000
Al 92,000
307 el2to| & 115,000 111,200 3,800
S 23,000
Al 92,000
10 Al SXAZEE 22X 115,000 111,200 3,800
OF0HL! HEE 2L (DHA)
115,000,000 * 14! 115,000
[ 23,000
Al 92,000
LLHIHA B DNSIIAAHE XA 540,000 560,000 10,000
= 540,000
307 212+01& 540,000 550,000 10,000
[ 540,000
10 Al SXAZEHE 22X 540,000 550,000 10,000
OYLLHOIHM DS AME S|
540,000,000 *14] 540,000
== 540,000
ORI A=AIE 10T, AIDD| E2ES=SAE 28| A& 3,555 0 3,585
= 2,488
S 320
Al 747
307 elztol & 3,555 0 3,555
= 2,488
& 320
Al 47
10 AlRIS XA EEE 22X 3,555 0 3,555
OHOHAHNFAIE I0TAIDD| EESESAE 2
el XI& 3,565,000 14! 3,555
= 2,488




COIA Ol 1t
Zoiel =X &
Z0HR Al 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 320
Al 747
ZOHRI0IZBAIE JISEH 3,734,369 3,734,369
307 el2to| & 43,714 43,714
10 MEISXAIEEE 2] 43,714 43,714
Og=T2 JIs2ZAE
9,000,000 %14 9,000
OSEAANZEAH20ISAHEE s
SLAY 34,714,000 * 14! 34,714
401 Al HIZL 01| 3,690,655 3,690,655
01 Al&H| 3,690,655 3,690,655
OSEAZMASX2 JIs22AS
3,500,000,000& *14] 3,500,000
OZQ =LESAIE JISEL AMY
160,655, 0002 *1 4! 160,655
OSLTOHRITIZ METAME I|SESUA
& 30,000,000 *14{ 30,000
=D =dEEH ot 24,590,850 19,619,959 4,970,891
= 21,650,522
= 1,734,727
Al 1,205,601
NASE A 6,443,427 5,631,632 811,7%
= 5,502,444
< 461,299
Al 479,684
K22 A 4,361,098 4,319,739 41,359
= 3,925,062
== 305,201
Al 130,835
101 e124d| 496,331 454,972 41,359
= 446,772
=S 34,667
Al 14,892
04 JIZtN2 2N S 2+ 496,331 454,972 41,359
OXEZZAIY 2124, 404 2=
496,331,000 x14] 496,331
= 446,772
= 34,667
Al 14,892
201 =3 29,720 29,720 0
= 26,748
S 2,080
Al 892
01 AtR2te|H] 29,720 29,720 0




FA I OoNel 1t
33 D ZHEEHO s
Bel: NASS NI (Ete &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXrg22 At =& T+ (284 S)
800,000 *230h = 18,400
= 16,560
[ 1,288
Al 552
OXRtEA HHEEHI(A,S)
3,000,000 *14] 3,000
= 2,700
< 210
Al 0
OXSAE=E SEHI(AlLS)
8,000 202 52 8,320
= 7,488
== 582
Al 250
202 04t 9,800 9,800 0
= 8,820
< 686
Al 2%
01 2LHoIH 9,800 9,800 0
OXtEAY B Xl B4
100,000 x4& * 123 4,800
= 4,320
= 336
Al 144
OXEAIY HAX Ast
200,000 %25 5,000
= 4,500
S 350
Al 150
301 LEtE N = 1,800 1,800 0
= 1,620
== 126
Al 54
01 AR 2EHSFS(RRNEXRTHE) 1,800 1,800 0
O=A=201 wsHl X3
150,000& »2&+63 1,800
= 1,620
< 126
Al 54
307 el2tol & 3,823,447 3,823,447 0
= 3,441,102
< 267,642
Al 114,703
11 AMEISXAEEES 3,823,447 3,823,447 0




FA I OoNel 1t
B 20| EMBHHO| A5
=@l MASE HENE (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXEZZARIEI(=3DI2)
3,823,447,000& * 100 2 3,823,447
= 3,441,102
[ 267,642
Al 114,703
NS HE 2K 497,281 497,673 A392
= 348,097
[ 49,728
Al 99,456
307 glztol & 497,281 485,673 11,608
= 348,097
s 49,728
Al 99,456
10 Al2ISTIAEEE2HIEX 497,281 485,673 11,608
OXGXEHE 2LHI(1H4)
497,281,000 x14] 497,281
= 348,097
=S 49,728
Al 99,456
KNS LE SAIL SE4E 15,240 14,160 1,080
= 4,212
Al 11,028
307 glztol & 16,240 14,160 1,080
= 4,212
Al 11,028
10 AlISAAIEEE 22X 15,240 14,160 1,080
OXNS A2 HE SAHA S84
90,0002 x13H =122 14,040
=S 4,212
Al 9,828
OXSTHEHE SARG #I25+E
20,0003 x5& * 122 1,200
K Atell2tel Al 23 33,200 30,992 2,208
= 9,960
Al 23,240
307 el2to| & 33,200 30,992 2,208
= 9,960
Al 23,240
10 AlRISXAZEHE 22X 33,200 30,992 2,208
OXt2AtIZEIAL 2E
33,200,000 * 14! 33,200
[ 9,960
Al 23,240
ZE2SEUAS =542 s XAAMNY 1,536,608 769,068 767,540




SA: SOIEOfOI It
B 20| EMBHHO| A5
@Rl MASSE NEXA (EEEE))
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= 1,229,285
= 92,198
Al 215,125
307 S1Zt0| & 1,536,608 769,068 767,540
= 1,229,285
& 92,198
Al 215,125
11 ASISAIAIREEX 1,536,608 769,068 767,540
O3 I2SEE | 22,001,000& * 1A 22,001
= 17,600
& 1,321
Al 3,080
Oslgha|2sd Il 54,000,000 & * 1A 54,000
= 43,200
& 3,240
Al 7,560
(OIF PNV 20,000,000 & = 1A 20,000
= 16,000
& 1,200
Al 2,800
OIS SH 40,000,000 * 14! 40,000
= 32,000
& 2,400
Al 5,600
OHFGEN=HZ 160,000,000 * 14! 160,000
= 128,000
& 9,600
Al 22,400
O3S H=HAE | 100,000,000 * 14! 100,000
= 80,000
= 6,000
Al 14,000
O3S MFHE I 72,343,000& * 1A 72,343
= 57,874
= 4,341
Al 10,128
OFAHL MSHEH(XHA2(0l0t)
197,613,000 * 14! 197,613
= 158,090
& 11,857
Al 27,666
OFAUHL MSH R (XA =1
870,651,000 * 1A 870,651
= 696,521




FA I OoNel 1t
33 D ZHEEHO s
=@l MASE HENE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 52,239
Al 121,891
F=HSOH X2 17,993,975 13,848,586 4,145,389
= 16,148,078
< 1,259,828
Al 586,069
FNHSN 17,924,175 13,436,100 4,488,075
= 16,130,678
== 1,254,608
Al 538,889
202 04| 1,200 2,250 1,050
01 =LHO LI 1,200 2,250 21,080
=NB0 Bt AREF 01y
200, 0002 x3& =43 %50% 1,200
301 EtE N = 16,422,975 12,033,850 4,389,125
= 14,780,678
< 1,149,608
Al 492,689
01 AR 2EHSHS(RNEERTHE) 16,422,975 12,033,850 4,389,125
@)= PN =10 16,422,975,0003 x14] 16,422,975
= 14,780,678
== 1,149,608
Al 492,689
403 X SHHMSAH=01H 1,500,000 1,400,000 100,000
= 1,350,000
== 105,000
Al 45,000
02 S 2SS0t et =& 2 E AL H| 1,500,000 1,400,000 100,000
Ox=tR XS0 1,500,000,000& *14] 1,500,000
= 1,350,000
=S 105,000
Al 45,000
FAHAX F=HEZINLALS 35,000 356,000 0
402 212 X201 & 35,000 356,000
02 QI T2 AL EE (01X THE) 35,000 35,000
OY=ESTAL(ZSXEAYE 2E3)
3,500,000& 10 35,000
ZOHe! =EOHE XIRAH 30,400 11,400 19,000
= 15,200
= 4,560
Al 10,640
402 QI+ X201 & 30,400 11,400 19,000
= 15,200




SN COIFORRI T
33 D =HEEHO s
=@t F=Hs0 XA (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 4,560
Al 10,640
02 QI X2 AL EE(0IETHE) 30,400 11,400 19,000
OZOHQ =EIHEXIZ ALY
3,800,000 +8It= 30,400
= 15,200
< 4,560
Al 10,640
HIZ&AX H==Xt OlAMHl K12 AHS 4,400 0 4,400
= 2,200
< 660
Al 1,540
301 LELEN S 4,400 0 4,400
= 2,200
== 660
Al 1,540
01 Al 2E A S(SRNEXMHE) 4,400 0 4,400
OBIEAHT HEX 0IAM]
400,000 114 4,400
= 2,200
s 660
Al 1,540
MNAS JZME2H 153,448 139,741 13,707
& 13,600
Al 139,848
IR AZ HSAH 70,000 70,000 0
= 13,600
Al 56,400
307 el2tol & 70,000 70,000 0
= 13,600
Al 56,400
11 AMEISXAEEXS 70,000 70,000 0
OFCYW3 2FHI(2H4)
35,000,000 #2012 70,000
== 13,600
Al 56,400
YU S5 dllg N 83,448 69,741 13,707
307 glztol & 83,448 69,741 13,707
11 AMEISXAEEES 83,448 69,741 13,707
OYPYUHEY BE &R X2
6.,954,000& 123 83,448
HH2L (LI F0HRIDL) 101,014 93,590 7,424
Jl2ZHI (=l &0 Dt) 101,014 93,590 7,424
JI2ZHI(=I &0l ) 101,014 93,590 7,424
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